
Knitting 201—Cable Pillow

Supplies
2 Skeins Lion Brand “Wool Ease Chunky”
Size 10 ½ needles, or size needed to make gauge
Cable Needle
Large-eyed Yarn Needle
15" to 16" Square Pillow

Gauge
14 sts + 18 rows in st st = 4"

Legend

Instructions 
CO 53 sts. Do 10 rows in garter st (k all rows). Then follow the chart pattern. End with 10 
rows garter st. BO. Make two panels. Hem tog three sides of pillow case. Insert pillow, and 
hem tog rem side. Make 4 tassels (wrapping 15 rounds of yarn around 4 3/4" piece of card 
stock). Attach a tassel at each corner of pillow.

Chart
Row 1: (rs) k5, p3, k8, p2, k17, p2, k8, p3, k5. 
Row 2: (ws) k8, p8, k2, p17, k2, p8, k8. 
Row 3: k5, p3, sl 2 to cn, hold to front, k2; k2 from cn (2/2 lc), sl 2 to cn, hold to back, k2; k2 
from cn (2/2 rc), p2, k8, p1, k8, p2, 2/2 lc, 2/2 rc, p3, k5. 
Row 4: k8, p8, k2, p8, k1, p8, k2, p8, k8. 
Row 5: k5, p3, k8, p2, k7, p1, k1, p1, k7, p2, k8, p3, k5. Row 6: k8, p8, k2, p7, k1, p1, k1, 
p7, k2, p8, k8. 
Row 7: k5, p3, 2/2 rc, 2/2 lc, p2, k6, (p1, k1) 3 times, k5, p2, 2/2 rc, 2/2 lc, p3, k5. 
Row 8: k8, p8, k2, p6, (k1, p1) 3 times, p5, k2, p8, k8. 
Row 9: k5, p3, k8, p2, k5, (p1, k1) 4 times, k4, p2, k8, p3, k5. 
Row 10: k8, p8, k2, p5, (k1, p1) 4 times, p4, k2, p8, k8. 
Row 11: k5, p3, 2/2 rc, 2/2 lc, p2, k4, (p1, k1) 5 times, k3, p2, 2/2 rc, 2/2 lc, p3, k5. 
Row 12: k8, p8, k2, p4, (k1, p1) 5 times, p3, k2, p8, k8. 
Row: 13: k5, p3, k8, p2, k3, (p1, k1) 6 times, k2, p2, k8, p3, k5. 
Row 14: k8, p8, k2, p3, (k1, p1) 6 times, p2, k2, p8, k8. 
Row 15: k5, p3, 2/2 lc, 2/2 rc, p2, k2, (p1, k1) 7 times, k1, p2, 2/2 lc, 2/2 rc, p3, k5. 
Row 16: k8, p8, k2, p2, (k1, p1) 7 times, p1, k2, p8, k8. 
Row 17: k5, p3, k8, p2, k3, (p1, k1) 6 times, k2, p2, k8, p3, k5. 
Row. 18: k8, p8, k2, p3, (k1, p1) 6 times, p2, k2, p8, k8. 



Row 19: k5, p3, 2/2 lc, 2/2 rc, p2, k4, (p1, k1) 2 times, k2, (p1, k1) 2 times, k3, p2, 2/2 lc, 2/2 
rc, p3, k5. 
Row 20: k8, p8, k2, p17, k2, p8, k8. 
Row 21: k5, p3, k8, p2, k8, p1, k8, p2, k8, p3, k5. 
Row 22: k8, p8, k2, p8, k1, p8, k2, p8, k8. 
Row 23: k5, p3, 2/2 rc, 2/2 lc, p2, k7, p1, k1, p1, k7, p2, 2/2 rc, 2/2  lc, p3, k5. 
Row 24: k8, p8, k2, p7, k1, p1, k1, p7, k2, p8, k8. 
Row 25: k5, p3, k8, p2, k6, (p1, k1) 3 times, k5, p2, k8, p3, k5. 
Row 26: k8, p8, k2, p6, (k1, p1) 3 times, p5, k2, p8, k8. 
Row 27: k5, p3, 2/2 rc, 2/2 lc, p2, k5, (p1, k1) 4 times, k4, p2, 2/2 rc, 2/2 lc, p3, k5. 
Row 28: k8, p8, k2, p5, (k1, p1) 4 times, p4, k2, p8, k8. 
Row 29: k5, p3, k8, p2, k4, (p1, k1) 5 times, k3, p2, k8, p3, k5. 
Row 30: k8, p8, k2, p4, (k1, p1) 5 times, p3, k2, p8, k8. 
Row 31: k5, p3, 2/2 lc, 2/2 rc, p2, k3, (p1, k1) 6 times, k2, p2, 2/2 lc, 2/2 rc, p3, k5. 
Row 32: k8, p8, k2, p3, (k1, p1) 6 times, p2, k2, p8, k8. 
Row 33: k5, p3, k8, p2, k2, (p1, k1) 7 times, k1, p2, k8, p3, k5. 
Row 34: k8, p8, k2, p2, (k1, p1) 7 times, p1, k2, p8, k8. 
Row 35: k5, p3, 2/2 lc, 2/2 rc, p2, k3, (p1, k1) 6 times, k2, p2, 2/2 lc, 2/2 rc, p3, k5. 
Row 36: k8, p8, k2, p3, (k1, p1) 6 times, p2, k2, p8, k8. 
Row 37: k5, p3, k8, p2, k4, (p1, k1) 2 times, k2, (p1, k1) 2 times, k3, p2, k8, p3, k5. 
Row 38: k8, p8, k2, p17, k2, p8, k8. 
Row 39: k5, p3, 2/2 rc, 2/2 lc, p2, k8, p1, k8, p2, 2/2 rc, 2/2 lc, p3, k5. 
Row 40: k8, p8, k2, p8, k1, p8, k2, p8, k8.
 Row 41: k5, p3, k8, p2, k7, p1, k1, p1, k7, p2, k8, p3, k5. 
Row 42: k8, p8, k2, p7, k1, p1, k1, p7, k2, p8, k8. 
Row 43: k5, p3, 2/2 rc, 2/2 lc, p2, k6, (p1, k1) 3 times, k5, p2, 2/2 rc, 2/2 lc, p3, k5. 
Row 44: k8, p8, k2, p6, (k1, p1) 3 times, p5, k2, p8, k8. 
Row 45: k5, p3, k8, p2, k5, (p1, k1) 4 times, k4, p2, k8, p3, k5. 
Row 46: k8, p8, k2, p5, (k1, p1) 4 times, p4, k2, p8, k8. 
Row 47: k5, p3, 2/2 lc, 2/2 rc, p2, k4, (p1, k1) 5 times, k3, p2, 2/2 lc, 2/2 rc, p3, k5. 
Row 48: k8, p8, k2, p4, (k1, p1) 5 times, p3, k2, p8, k8. 
Row 49: k5, p3, k8, p2, k3, (p1, k1) 6 times, k2, p2, k8, p3, k5. 
Row 50: k8, p8, k2, p3, (k1, p1) 6 times, p2, k2, p8, k8. 
Row 51: k5, p3, 2/2 lc, 2/2 rc, p2, k2, (p1, k1) 7 times,k1, p2, 2/2 lc, 2/2 rc, p3, k5. 
Row 52: k8, p8, k2, p2, (k1, p1) 7 times, p1, k2, p8, k8. 
Row 53: k5, p3, k8, p2, k3, (p1, k1) 6 times, k2, p2, k8, p3, k5. 
Row 54: k8, p8, k2, p3, (k1, p1) 6 times, p2, k2, p8, k8. 
Row 55: k5, p3, 2/2 rc, 2/2 lc, p2, k4, (p1, k1) 2 times, k2, (p1, k1) 2 times, k3, p2, 2/2 rc, 2/2 
lc, p3, k5. 
Row 56: k8, p8, k2, p17, k2, p8, k8. 
Row 57: k5, p3, k8, p2, k17, p2, k8, p3, k5.


